(1) BEHE

(B2 1)

I R Bt ERRNEE | ERDER | wmm | mms
FRBE (A) 712,537,000 667,989,000| 44,548,000 6.7 %
RAKREE (B) 712,600,095 667,381,752 45,218,343 6.8 %
AR AR (c) 709,998,386 664,875,273 45,123,113 6.8 %
RARHZETIE (B) — (o) (D) 2,601,709 2,506,479 95,230 3.8 %
BEEIZRO BT E MR (E) 0 0 0 0.0 %
EEIRX (D) — (E) (F) 2,601,709 2,506,479 95,230 3.8 %
AIEEEEINX (G) 2,506,479 2,091,669 414,810 19.8 %
BAEREINT (F) — (G) (H) 95,230 414,810 A 319,580 - '”/f
L& (1) 0 0 0 0.0 %
#a L RS (n 0 0 0 0.0 %
FESL &R LR (K) 0 0 0 0.0 %
%ﬁfﬁ’%’fgm (L) 95,230 414,810 A 319,580 |
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